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Question# 1(24%) a):Write the conyerse ,chtre(tigositive and negation of the following statement

: —
Ifx*=x /,\andxv&O then x=1

Converse: jﬁ X =1 ”19»‘\ XZ:M . '- N \:
Contrapos‘itivezlpxii-l . hen W X=o0.

Contradiction: g 2 -~ ¥ Ww’f A #o C‘M\c/ X #

b)Wﬂ% ausefiyl negation for each of the following statements’
Some 1’;%1:11 ext books are expensive and not easy to read

Sorme AU worth Lex) bap]WSj bo Voo - N
¢ <« QAR | 2
2) x*#x ifandonlyif x#0 andx#l ' ¥
' '?u’\ﬁi(e é’,x;*g}; { = DX 4 = 5(,‘[01& \-I‘*M“ Xli}( : , ICK

Ili=0 v y=1) (x¥#Y¥) , ' 4 - ooy 1%
3) GxeZ)TyeZ)xy £0)

(Dye2) (Pyez) (W/ o %2

¢ YWhich of the following is a toutology, or a contradiction or neither

Dlp=9Aql= ~p o ' A f EP%‘M@
ﬂtf”\ﬂf- _ , $ T o T
| T FoF
) p>gvr)e(pa-g)—=r FT T i !
(O

P“Cdﬁ»i}v '(V




Question # 2 (28%): Which of the following statements is true and which is false?Justify your answer
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Question# 3(20%) ><
a)Give an example to show that the following is not true
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b)The sequencs {a } converges to L if and only if for every positive number &
there is an integer N ,such that for all n,

~ (_'H>N — lan -L’ <€J

Write down What it means to say that the sequence {a,} doesnotconvergeto L
H’L@fe. exist @o‘i?“v’(‘l V\umb?l" z Fvs"cdl i .h‘f?j'eyﬂj such Hsuﬁ ﬁu}f Sumg
n, %7"4 ny M M-OJ l%«"L’?,-E_ '

c) foreachk e N Jet

1 1
A, =[l-—,2+=) , find
Ly, [ i Ic) 1

o U4 Ao =[L 12:3) Az =11, 1)
P IFils \]I X :
< E,L: lg/ }j—_) :_)’O,\’g));




Question # 4 (28%):Prove the following
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3)Let A,B,C be sets such that A B = A C prove that A is not a subset of C
or B is not a subset of A

ﬁ?‘;’twnf Hmal- A, B; C S_&}f g

: }p,) Cwn}ﬁ{foq,'l\vt,"

;)§§um€)q CCond g CA we we el k’("f‘“’e— AVB= Anc

Firsk « pug & Ane | | Q.-;w (Beh)
leb Xe Auvg B KED ortef ( E/‘”Cfft)) .

X e ,QUQ ¥ ffl/l}'u‘t,,l\ W asSume |

——

. Cﬂf&i[ xeﬁ?_> xeﬁd}_




